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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
(NJ 	 June, 2011 
CO 

C\J 	ELECTIVE COURSE : ECONOMICS 
EEC-06 : PATTERNS OF ECONOMIC 

DEVELOPMENT : A COMPARATIVE STUDY 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Long Answer Questions 

Answer any two questions in about 500 words each. 
2x20=40 

1. What were the reasons for the Great Depression 

of 1929 ? Also explain its effect on the British 

economy. 

2. What was the great planning debate of Soviet 

Russia about ? What impact did it have on future 

course of economic development in that 

country ? 
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3. What are the economic reasons for Japan's 

military defeat in the Second World War ? How 

did Japan finance its war - time expenditure ? 

4. Critically examine Rostow's analysis of 'stages of 

development'. 

EEC-06 	 2 



SECTION - B 

Medium Answer Questions 

Answer any three questions from this section in 

about 250 words each. 	 3x10=30  

5. Explain the Marxian analysis of the stages of 

economic development. 

6. Explain the various measures adopted to increase 

agricultural productivity in Britain in the 18th and 

early 19th century. 

7. What were the main features of the New Agrarian 

settlement of 1873 -78 is Japan ? 

8. Explain Simon Kuznet's notion of Modern 

Economic Growth. 

9. Explain the terms 'backward linkage' and 

'forward linkage'. 

10. Explain socio - economic features of agrarian 

structure of manorial system. 
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SECTION - C 

Short Answer Questions 

Answer both questions of this section as directed. 

11. Write notes on any three of the following in about 

100 words each : 	 3x5=15 

(a) Triangular trade. 

(b) Key features of a developing economy. 

(c) The Scissors - Crises. 

(d) Rosenstein - Rodan Model. 

(e) Gross and net barter terms of trade. 

12. Briefly define any five of the following : 	5x3=15 

(a) Economic Concentration. 

(b) Leading Sector. 

(c) Technological Dualism. 

(d) Gosplan. 

(e) Devaluation. 

(f) Primitive Socialist Accumulation. 

(g) Multinational Corporation. 

(h) Economic Development. 
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